
Page 115

Correct!

Here's the next problem.

2/3 is equal to what per cent?

(a) 66.66%

(b) .6667%

(c) 66.67%

Turn to page 127

Turn to page 135

Turn to page 155
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Page 113

Welcome to Booklet #2. Let's continue by learving how

to change fractions to per cents. This should be

easy. Ali you do is change the fractinn to a deci-

mal (This is taught in Unit 12) and then you simply

change that decimal into per cent notation like you

did in Booklet #I of this Unit.

Try this problem.

9/10 = %.

(a) 9/10

(b) 9

(c) 90

Turn to page 122

Turn to page 138

Turn to page 119



Page 114

Wait a minute!

A per cent must have a denominator of 100. Does

11/25 have a denominator of 100? Of course not.

Therefore, 11/25 does not equal 11%.

Go back to page 116 and give it another trY.

Turn to page 116.



Page 115

Correct!

Here's the next problem.

2/3 is equal to what per cent?

(a) 66.66%

(b) .6667%

(c) 66.67%

Turn to page 127

Turn to page 135

Turn to page 155



Page 116

Wrong answer. Let's see how the problem should be

worked.

Step 1: 5/8 = .625 (change the fraction to a decimal)

Step 2: .625 = .625 x 100% = 62.5% (change the
decimal to a
per cent)

Step 3: 62.5% = 62 1/2% (which is our answer)

You work a problem now.

11/25 = %.

Turn to page 114

Turn to page 129

Turn to page 121
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Page 117

Okay! Now you are on the right track.

Let's work one more to make sure we really under-

stand the process.

3/20 = %.

(a) 3

(b) 30

(c) 15

Turn to page 124

Turn to page 130

Turn to page 133



Page 118

You are having trouble changing decimals to per cents.

Go to page 69 in Booklet #I and study the material

there carefully. Then continue the Unit from there.



Page 19

Your answer is correct!

Let's go on.

Write 5/8 as a per cent.

(a) 16%

(b) 62 1/2%

(c) 6 1/4%

Turn to page 125

Turn to page 132

Turn to page 116



Page 120

You seem to be having trouble.

Go to page 138 and read the explanation there

carefully. Then continue from there.

i
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Page 121

Correct:

Here is another one for you.

What per cent is equal to 5/4?

(a) 1/4%

(b) 125%

(c) 80%

Turn to page 137

Turn to page 132

Turn to page 128



Page 122

Twens~4^4.olowyteuvu.

Let's look at how a problem is worked. 9/10 = .9.

Therefore, we multiply by 100% and get 90% for our

answer.

Another my to look at the problem is to change

our fraction to an equivalent form with a denomina-

tor of 100. Then we just take the numerator and

annex the per cent symbol. In other words,

9/10 = 90/100 = 90%.

Now you try one.

1/4 = %.

(a) 25

(b) .25

(c) 4

Turn to page 133

Turn to page 141

Turn to page 134



Page 123

VAtem ftnee.onm 4^
elbow, UPlaPIZE I* VIAAPIICUU.

Let's see how to work it.

Step 1: 10/11, = .90909090... (change to a decimal)

Step 2: .909090... x 100% = 90.9090...% (change to
per cent
notation)

Step 3: Then round off 90.9090...% to two decimal

places which gives us the answer 90.91%.

Now you work one.

5/9 = %.

(a) 55.56%

(b) .5556%

Turn to page 115

Turn to page 131



Page 124

Incorrect.

You must change 3/20 into a decimal or a fraction

with a denominator of 100. Then change it into

per cent notation.

Return to page 117 and use one of the methods I

suggested. Turn to page 117.



Page 125

Wrong answer. Let's see how the problem should be

worked.

Step 1: 5/8 = .625 (change the fraction to a decimal)

Step 2: .625 = .625 x 100% = 62.5% (change the
decimal to a
per cent)

Step 3: 62.5% = 62 1/2% (which is our answer)

You work a problem now.

11/25 = %.

Turn to page 114

Turn to page 129

Turn to page 121



Page 126

Whoa! 2/5 means 2 divided by 5.

Be careful now.

Write 1/2 as a per cent.

Turn to page 117

Turn to page 141



Page 127

You fnrgot tn rnund off your answer. Be more careful

with your work.

Here is another problem for you to get you back on

the right track.

2/7 = %.

(a) .2857

(b) 28.57

Cc) 28.58

Turn to page 131

Turn to page 115

Turn to page 135

(



Page 128

Whoa! 5/4 means 5 divided by 4.

Go back to page 121 and divide correctly this time.

Turn to page 121.

1

1



Page /29

Incorrect.

You must change the fraction to either a decimal

equivalent or a fractional equivalent with a

denominator of 100. Look at this example:

11/25 = 11 ))(c 4 = 44/100 = 44%

OR

.44
11/25 = 25/11 = 25/TrINY = .44 x 100% = 44%.

10 0

1 00

Here's one for you.

9/50 = %.

(a) 18

(b) 9

Turn to page 121

Turn to page 120



Page 130

You seem to be having trouble converting fractions

to decimals.

Go review the concepts in Unit 12 and then return

to page 113 in this booklet.

Go to Wit 12.



Page 131

Incorrect.

You forgot to multiply by 100.

Be more careful now and work this problem.

2/9 written in per cent form is:

(a) 22.22%

(b) 22.23%

Turn to page 115

Turn to page 135



Page 132

Good! That answer is correct.

Here is the next problem.

10/11 m %.

(a) 9.09

(b) 90.9

(c) 90.91

Turn to page 123

Turn to page 140

Turn to page 155

1

i



Page 133

That's correct!

Let's continue.

Wy:te 2/5 as a per cent.

(a) 40%

(b) 4%

(c) 2 1/2%

Turn to page 119

Turn to page 141

Turn to page 126



Page 134

Whoa!

1/4 means 1 4. Go back to page 138 and work the

problem again.



Page 135

Whoops! Forgot to multiply by 100%.

Try this problem.

What is 10/17 written in per cent notation?

(a) 58.83%

(b) 5.88%

(c) 58.82%

Turn to page 139

Turn to page 118

Turn to page 115



Page 136

Good! That's the right answer.

Work tds one.

2% of 25 = %.

(a) .08

(b) .5

(c) 1.25

Turn to page 163

Turn to page 169

Turn to page 147



Page 137

No. That is an incorrect answer.

A 5 x 25
125/100 = 125%.Because 5/'t 4 x 25

Try this one.

1/16 = %.

(a) 1/16

(b) 62 1/2

(c) 6 1/4

Turn to page 129

Turn to page 142

Turn to page 121



Page 138

Incorrect. Let's look at how a problem is worked.

9/10 = .9. Therefore, we multiply by 100% and get

90% for our answer.

Another way to look at the problem is to change

our fraction to an equivalent form with a denomina-

tor of 100. Then we just take the numerator and

annex the per cent symbol. In other words,

9/10 = 90/100 = 90%.

Now you try one.

1/4 = %.

(a) 25

(b) .25

(c) 4

Turn to page 133

Turn to page 141

Turn to page 134



Page 139

You are having trouble rounding off numbers to two

decimal places.

Go to page 81 in Unit 11 and review the concept of

rounding off. Then return to page 132 of this Unit.

Go to Unit 1;, page 81.



Page 140

Incorrect.

You didn't round off your answer correctly. CarrY

the division out three places and then round off

your answer to two decimal places.

Return to page 132 and try the problem again.

1



Page 141

Your answer is incorrect.

Remember, change to a decimal and then multiply by

100%.

EXAMPLE: 1/4 = .25 = .25 x 100% = 25%.

Here's a problem for ,you.

What per cent is equal to 1/101

Turn to page 130

Turn to page 133



Page 142

Whoops! Nislocated the decimal point.

Go back to page 137 and see if you can correct your

mistake and get the correct answer.

Turn to page 137.



Page 143

You're working this problem incorrectly.

Go to page 145 and read the explanation again. Then

continue from there.

Turn to page 145.



Page 144

Your answer is incorrect. Here is how the problem

should have been worked.

Step 1: 1 2/9 = 1.22222... (change to decimal form)

Step 2: 1.2222... = 1.2222... x 100% = 122.2222...%

(changed the decimal to per cent notation)

Step 3: Rounded our per cent af to two decimal places

and got an answer of 122.22%.

Try this problem.

What per cent is equal to 2 3/11?

(a) 22.73%

(b) 227.27%

(c) 2.27%

Turn to page 149

Turn to page 153

Turn to page 150



Page 145

Very goodi You are doing well. This is the last

section of tills booklet and will cover solutions of

problems involving percentage.

All percentage problems can be set up in equation

form as "Amount = Percentage x Base," or in symbol

form, A = % )(B. You should notice that this form

is really identical to the equation a = bc that can

be studied in Units 13 and 14. All solutions of

A = % x B will be arrived at by the same process

that is used in Unit 14.

As for the actual working of the problems, you take

the equation A = % x B and decide for what value you

are solving. Uhether: (a) A = % x B,

(b) % = A/B

or (c) B = A/%. Then convert

the per cent to a decimal (in equations a and c) and

carry out the desired operation. In equation b above

you would divide A by B and then convert that decimal

to a per cent.

Okay, turn t, page 146 and continue.



Page 146

Okay, here is the next problem.

is 3% of 25.

(a) .75

(b) .0012

(c) 833 1/3

Turn to page 169

Turn to page 157

Turn to page 143



Page 147

Your answer is incorrect.

The word "of" indicates multiplication. Going back

to our general equation, "Amount = per cent x Base,"

we could write this as "Amount is percentage of Base."

Try another problem.

= 10% of 38.

(a) .38

(b) 380

(c) 3.8

Turn to page 156

Turn to page 163

Turn to page 136



Page 148

Incorrect.

You failed to multiply by the number that changes

any number into a per cent. Uhat is that number?

100%, of course.

Here's the next problem, but be more careful this

time.

6 2/11 2 %.

(a) 18.18

(b) 618.18

(c) 61.82

Turn to page 151

Turn to page 153

Turn to page 150



Page 149

Watch that decimal pointi You placed it incorrectly.

Return to page 144 and try again.



Page 150

Your answer was incorrect. Try to remember the steps

we use in working this type of problem.

Step 1: Change the fraction to a decimal

Step 2: Change the decimal to a per cent by multiply-

ing by 100 or moving the deciral point two

places to the RIGHT.

Step 3: Round off your per cent to hundredths, if

necessary.

EXAMPLE: 2 3/11 = 2.2727... = 2.2727... x 100% = 227.27%

New work this problem.

4/3 = %.

(a) 133.33%

(b) 13.33%

Turn to page 153

Turn to page 159



Page 151

Ooops! That answer isn't even close.

Go back to page 162 and concentrate on working it

correctly. Turn to page 162.



Page 152

Incorrect.

Go back to page 157 and read the explanation again.

Read it over a couple times to make sure you have

the idea. Then continue from there.

Turn to page 157.



Page 153

Correct!

Here's your next problem.

What per cent is equal to 10 7/9?

(a) 10 7/9%

(b) 10.78%

(c) 1077.78%

Turn to page 148

Turn to page 162

Turn to page 145



Page 154

Your answer is incorrect.

Go tr page 177 for a deeper explanation of this type

of problem. Turn to page 177.



Page 155

Very good! You're moving right along.

Here is another problem for you to solve.

1 2/9 is equal to what per cent?

(a) 122 2/9%

(b) 1.22%

(c) 122.22%

Turn to page 160

Turn to page 144

Turn to page 145



Page 156

Incorrect. You misplaced the decimal point.

Let's try another one and see if we can get back on

the right track.

What is 25% of 64?

Turn to page 163

Turn to page 136

Turn to page 161



Page 157

Ynur answ=r is incorrect.

In these problems you are solving for the "Amount"

part of the aquation, Amount = Per cent x Base.

It is possible, however, that the words "is" and "of"

may be bothering you. They are words that indicate

the symbols "=" and "x." In other words, A = % x B

is usually written "aLiLimilitlisligi or "What is

lastasfir"

Here is an example for you.

What is 37G of 25?

A = 3% x 25 = .03 x 25 = .75.

Turn to page 158 and continue.



Okay.

Wow work this problem.

is 5% of 20.

Page 158

Turn to page 136

Turn to page 152

Turn to page 163



Page 159

You seem to be having your problems.

Go to page 123 and read the material carefully and

study the examp:e. Then proceed from there.

Turn to page 123.



Page 160

Good! 122 2/9% is one of the correct answers.

Did you notice that 122.22% was a rounded off form

of 122 2/9% and is also correct? Anyway, both of

these answers were correct.

Wow turn to page 145 and continue.



Page 161

Incorrect. "Of" means "times," not divide!

Go back to page 156 and take a look at the problem

again. Your answer should make good common sense.

Hew be careful and work the problem again.

Turn to page 156.



Page 162

Incorrect.

You failed to multiply by the number that changes

any number into a per cent. What is that number?

100%, of course. Here's the next problem, but be

more careful this time.

6 2/11 = %.

(a) 18.18

(b) 618.18

(c) 61.82

Turn to page 151

Turn to page 153

Turn to page 150



Page 163

Your answer is incorrect.

The basic idea is that an "Amount" is equal to some

"percentage" times a number of a "base." The key

words in the question are "is" and "of." "Is" indicates

an equality while "of" stands for the multiplication

symbol.

EXAMPLE: ? is 6% of 10 could be written as

? = 6% x 10. Therefore, ? = .06 x 10 = .6.

Here's a problem for you.

= 1% c? 72.

(a) 7200

(b) .72

Turn to page 152

Turn to page 136



Page 164

Whoops: You forgot to change 18% into decimal

form before you did your work.

Return to page 165 and try the problem again.



Page 165

Excellent! You are doing fine with these hard

problems.

Here is your next problem. Be careful nolo as this

problem is a little bit different from your last

one.

144 is 18% of:

(a) 25.92

(b) 8

(c) .00125

(d) 600

Turn to pace 177

Turn to ',age 164

Turn to page 154

Turn to page 171



Page 166

Incorrect.

Let's look at the correct solution to the problem.

5% cf is 3 is changed to the form 5% x 0 = 3

or, if you wish, 3 = 5% x B.

Step 1: B = 3/5%

Step 2: B = 3/.05

(solving equation for B)

(change % to decimal form)

Step 3: B = 3/.05 = 300/5 = 60 (divide)

Let's try another problem like this one.

24 is 50% of:

(a) .02083

(b) 12

(c) 48

Turn to page 181

Turn to page 173

Turn to page 172



Page 167

Your answer is incormct.

Let's lo

WO

ok at how problems of this type should be

rked. Consider the example: 5 is 40% of .

This should be written as:

Step 1: 6 = 40% x B

Step 2: B = 6/40% (change to equivalent form for

solving)

Step 3: B = 6/40% = 6/.4 = 60/4 = 15.

Try this one.

9 is 75% of .

(a) 6.75

(b) 12

Turn to page 170

Turn to page 183



Page 168

Sorry, ba you forgot what divides what.

Return to page 177 and read the explanation again.

Then continue from there.



Page 169

Good! Your answer is cnrrect.

Work this problem.

What is 20% of .15?

(a) .0?

(b) .3

(c) .75

(d) 1.33

Turn to page 165

Turn to page 156

Turn to page 174

Turn to page 157



Page 170

You seem to be having trouble solving equations of

the form a = bc.

Go to Unit 14 and practice the method for solving

equations of this type. Then return to page 145 of

this unit.

Go to Unit 14.

,

1



That's correci'l

Let's continue.

5% of is 3.

(a) .15

(b) 60

(c) .0167

Page 171

Turn to page 191

Turn to page 188

Turn to page 166



Page 172

Good! That is the correct answer.

Here is your next problem.

12 1/2% of is 3.

(a) .375

(b) 24

(c) .04167

Turn to page 180

Turn to page 188

Turn to page 181



Page 173

Whoops!

For the equation A = % x B we find that B = A/%

is an equivalent tom and that B = %/A is HOT.

Return to page 166 and be a little more careful.



Page 174

You're working this problem incorrectly.

Go to page 145 and read the explanation again. Then

continue from there.

Turn to page 145.



Page 175

Wrong ancWore

Which equivalent form of A = % x B are you using

to solve for your unknown p r cent?

(a) % =AxB

(b) % = B/A

(c) % = A/B

Turn to page 194

Turn to page 192

Turn to page 184



Page 176

Incorrect.

What equivalent form of A r= % x B are you using?

Remember you're solving for %.

Return to page 1A6 and try again.



Page 177

You missed that one, huh! Well, let's take a closer

look at this type of problem.

First of all, what were me solving for? The problem

was "144 is 18% of " Notice that the "%" is

given and that the "amount" is given. Therefore, we

want to find the "Base" or B from the general

equation A = % x B.

To solve for B, we take A = % x B and change it to

the equivalent form of B = A/%. Thus B is found by

dividing the amount by the percentage.

For the problem 144 is 18% of , we solve like

this:

B = 144/18% = 144/.18 = 14400/18 = 800.

Turn to page 178 and continue.



Okay.

Try this problem.

6 is 40% of:

(a) 2.4

(b) .0667

(c) 15

Page 178

Turn to page 167

Turn to page 168

Turn to page 183



Page 179

Your answer is incorrect.

Go to page 192 for a detailed explanation.



Page 180

Your answer is incorrect. Let's look at this

example.

12 1/2% of 8 = 3 is solved by writing it in the

equivalent form of B = 3/12 1/2%.

I'll give you another chance.

8 is 80% of:

(a) 10

(b) 6.4

Turn to page 172

Turn to page 167



Page 181

Your answer is incorrect. Let's look at this example.

12 1/2% of B = 3 is solved by writing it in the

equivalent form of B = 3/12 1/2%.

I'll give you another chance.

8 is 80% of:

(a) 10

(b) 6.4

Turn to page 172

Turn to page 167



Page 182

Thfte eimosansw 4, . "0111AIAP% "4 1
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Continue by solving this problem.

What per cent of 60 is 1.2?

Turn to page 196

Turn to page 190

Turn to page 186



Let's continue.

37 1/2% of is 12.

(a) 32

(b) 4.5

(c) .03125

Page 183

Turn to page 171

Turn to page 167

Turn to page 187



Page 184

Correct!

Let's continue.

What per cent of 16 is 6?

(a) 96%

(b) 26 2/3%

(c) 37 1/2%

Turn to page 197

Turn to page 175

Turn to page 182



Page 185

Whoops! You divided incorrectly.

Return to page 192 and reread the material again

carefully. Then continue from there.



Page 186

Incorrect. Here is how the problem is worked.

Step 1: ? % = 1.2/60 (equivalent form of A = % x 8)

Step 2: ? % = .02 (change fraction to a decimal)

Step 3: ? % = 2% (change decimal to per cent)

Here's your next problem.

1.6 is % of 6.

(a) 40

(b) 9

(c) 25

Turn to page 176

Turn to page 194

Turn to page 189



Page 187

Sorry! You divided incorrectly-

Go back to page 183 and try again.



Page 188

Your answer is correct! You're doing well.

Let's continue with this problem. Be careful, it's

a Jittle bit different.

5 is % of 10.

(a) 200

(b) 50

(c) 20

Turn to page 192

Turn to page 182

Turn to page 179



Page 189

Correcti

Here's your next problem.

% of 12 is 7.5.

(a) 62 1/2%

(b) 90%

(c) 16%

Turn to page 196

Turn to page 194

Turn to page 195



Page 190

Incorrect. Here is how the problem is worked.

Step 1: ? % = 1.2/60 (equivalent form of A = % x B)

Step 2: ? % = .02 (change fraction to a decimal)

Step 3: ? % = 2% (change decimal to a per cent)

Here's your next problem.

1.5 is % of 6.

(a) 40

(b) 9

(c) 25

Turn to page 176

Turn to page 194

Turn to page 189



Page 191

Incorrect.

Let's look at the correct solution to the problem.

5% of is 3 is changed to the form 5% x 8 = 3

or if you wish, 3 = 5% x B.

Step 1: 8 = 3/5%

Step 2: B = 3/.05

(solving equation for 8)

(change % to decimal form)

Step 3: B = 3/.05 = 300/5 = GO (divide)

Let's try another problem like this one.

24 is 50% of:

(a) .02083

(b) 12

(c) 48

Turn to page 181

Turn to page 173

Turn to page 172



Page 192

Your answer was incorrect. Let's look at this problem

in detail. FirA of all, you should have noticed that

we are looking for per cent. Therefore, we use an

equivalent form of A = % x B to solve for %. This

equivalent form will be % = A/B. [If you don't see

how that formula was derived fram A = % x B, you should

review solutions of a = bc fram Unit 14.]

Now using the formula that per cent = amount/base,

we take a problem (5 is % of 10) and write it in

this form. You should then have % = 5/10. Solving,

you get % = 5/10 = 5 = 50%.

Okay, here is your next problem.

3 is % of 5.

(a) 15

(b) 16.67

(c) 60

Turn to page 197

Turn to page 185

Turn to page 184



Page 193

You seem to iie having trouble finding what per cent

one number is of another. Go to Unit 14 and review

solutions of a = bc. Then return to page 145 of this

unit.

Turn to Unit 14.



Page 194

Incorrect. This problem is NOT solved by the operation

of multiplication.

Looking at our general formula nf A = % x B9 we see

that we only multiply when we are looking for the

"amount" or A.

Let's look at this example problem step by step.

3 is % of 5.

Step 1: ? % = 3/5 [We use the formula % a A/B

(see page 145 if you don't understand) an

equivalent form of A = % x O.

Step 2: ..? % = .6 (change fraction to decimal form)

Step 3: ? % = 60% (change decimal to per cant)

Now you try this problem.

18 is % of 24.

(a) 75

(b) 133 1/3

''.,.

Turn to page 189

Turn to page 197



Page 195

Wrong answer.

Which equivaleht form of A = % x B are you using

to solve for your unknown per cent?

(a) % =Ax8

(b) % = B/A

(c) % = A/B

Turn to page 194

Turn to page 192

Turn to page 184



Page 196

Excellent! You are doing fine work.

Now we are going to mix up the last section of

problems that you have been working to see if you

can apply the correct equivalent form of A = % x B

and work the problem out for the correct answer.

Read each problem carefully now and decide whether

to use A = % x Bs % = A/B, or B = A/%. Then work

the problem.

Here is your next problem.

40% of ? is 180.

(a) 72

(b) 222

(c) 450

Turn to page 206

Turn to page 203

Turn to page 210



Page 197

Vnusm snesanso 4e 4nensmmne+slums mseassus s.a suusuvuus.

You should know that we are using an equivalent form

of A = % x B to solve for an unknown per cent.

Now let me ask you, what is this equivalent form?

(a) % =AxB

(b) % = A/B

(c) % = B/A

Turn to page 193

Turn to page 184

Turn to page 200



That's correct!

Try this one.

What% of 4 is 24?

(a) 600%

(b) 16 2/3%

(c) 6%

Page 198

Turn to page 219

Turn to page 204

Turn to page 205



Page 199

You seem to be having trouble solving problems for

the Base or B part.

Return to page 177 and study the neterial there.

Then continue the unit by working the problem on

page 178.

Turn to page 177.



Page 200
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one number is of another.

Go to Unit 14 and review solutions of a = bc. Then

return to page 145 of this unit.

Au.... ..... +

GIO to Unit 14.



Page 201

Wrong answer.

You're not concentrating. Remember, you must decide

the answers to the following questions first.

Question 1: What am I solving the problem for?

Question 2: What equivalent form of A = % x Base

do I use?

Then work the problem. Return to page 211 and try

again.



Page 202

% = 16/40 is correct!

Let's try to work this problem using one of the

equivalent forms of A = % x Base.

16 = % x 40.

(a) 64

(b) 40

(c) 22 1/2

Turn to page 214

Turn to page 219

Turn to page 213



Page 203

vnur answer is incorrect. Use the equivalent form

B = A/% to solve this problem. Let's look at the

steps involved in solving 40% of is 180.

Step 1: B = 180/40% (correct equivalent form)

Step 2: B = 1801.4 (change per cent to decinml)

Step 3: B = 180/.4 =1800/4 = 450 (divide)

Now try this one.

38 is 5% of:

(a) 76

(b) 131.5789

(c) 19

Turn to page 198

Turn to page 207

Turn to page 202



Page 204

What? Let's pick a rpacnnable answer.

Surely you know that 16 2/3% or 1/6 of 4 cannot be

24. Return to page 198 and work the problem again.



Page 205

Incorrect. You should have gotten 600% for your

answer. What were ytu solving for?

To find %, we use the equivalent form % = A/B.

Then % = 24/4 = 6/1 = 600%.

Try this problem.

6.75 is % of 18.

(a) 121.5

(b) 23 1/3

(c) 37 1/2

Turn to page 214

Turn to page 215

Turn to page 209



Page 206

Your answar ic inorriatt use the equivalent form

B = A/% to solve this problem. Let's look at the

steps involved in solving 40% of is 180.

Step 1: 6 = 180/40% (correct equivdlent form)

Step 2: B = 180/.4 (change per cent to decimal)

Step 3: B = 180/.4 = 1800/4 = 450 (divide)

Now try this one.

n is 5% of:

(a) 76

(b) 131.5789

(c) 19

Turn to page 198

Turn to page 207

Turn to page 208



Page 207

Incnrrort.

The most important step is deciding which equivalent

form of A = % x B is needed to obtain a solution for

the problem. Let's see if I can give a clue on how

to get the correct equivalent form. First of all,

we take the general form A = % x B and note that this

formula is used to solve for A. This is the only

formula that you multiply two numbers (% and B) to

get your answer.

What about solving for B or per cent? For both of

these formulas we will DIVIDE. If we are solving for

B, divide loy:%. If we are solving for per cent,

DIVIDE B.

Look at it this wey:

If we want B, then A
/-

If we want %, then A = %

B or A/% = B.

or A/B = %.

It's not so hard, is it?

Continued on next page



Page 207
continued

Try this problem, then.

60% of is 9.

(a) 54

(b) 15

Turn to page 199

Turn to page 198



Page 208

Inorrect.

The most important step is deciding which equivalent

form of A = % x B is needed to obtain a solution for

the problem. Let's see if I can give a clue on how

to get the correct equivalent form. First of all,

we take the general form A = % x B and note that

this formula is used to solve for A. This is the

only formula that you multiply two numbers (% and B)

to get your answer.

What about solving for B or per cent? For both of

these formulas we will DIVIDE. If we are solving

for Bs divide 122%. If we are solving for per cents

DIVIDE .12y. B.

Look at it this way:

If we want B, then x B or A/% = B.

If we want %, then A = % x(i)or A/B = %.

Continued on next page



Page 208
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It's not so hard, is it?

Try this problem, then.

60% of is 9.

(a) 54

(b) 15

Turn to page 199

Turn to page 198



Page 209

Your answer is correct!

Here is your next problem.

What % of 40 is 16?

(a) 64%

(b) 22 1/2%

(c) 40%

Turn to page 214

Turn to page 218

Turn to page 219



Page 210

Very goodi 450 is the correct answor.

Let's continue.

What per cent of 4 is 24?

(a) 600%

(b) 16 2/3%

(c) 6%

Turn to page 219

Turn to page 212

Turn to page 205



Page 211

Okay! % = A/8 is correct.

Now let's work a problem using one of the equivalent

farms of A = % x G.

33 1/3% of 45 is:

(a) 135

(b) 15

(c) 7.4074

Turn to page 201

Turn to page 198

Turn to page 207



Page 212

Incorrect_ You should have gotten 600% for your

answer. What were you solving for?

To find %, we use the equivalent form % = A/8.

Then % = 24/4 = 6/1 = 600%.

Try this problem.

6.75 is % of 18.

(a) 121.5

(o) 23 1/3

(c) 37 1/2

Turn to page 214

Turn to page 215

Turn to page 209



Page 213

1

1
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page 218. Pages 218 and 202 are related to each

other.

Reread page 218 and your answer to page 218. Then

work the problem on page 202 again.



Page 214

Wrong answer. We do not solve this type of problem

using the operation of multiplication. If we look at

the general formula of A = % x Base and know that we

are solving for %, we can obtain our equivalent form

(a) dividing both sides by B and getting % = AJB

Turn to page 211

(b) dividing both sides by A and getting % = B/A

Turn to page 200

(c) multiplyingAtimesBand getting % 47:AxB

Turn to page 193



Page 215

rnma nmsVienne

What equivalent form of A = % x B did you use?

(a) %=AxB

(b) % = B/A

(c) % = A/B

Turn to page 214

Turn to page 192

Turn ta page 205



Page 216

Correct!

Let's continue with this problem.

What is 13% of 3?

(a) .39

(b) 39

(c) 4 1/3

Turn to page 228

Turn to page 221

Turn to page 223



Page 217

Your answer is incorrect.

Which equivalent form of A = % x B are you using to

solve this problem?

(a) B = A/%

(b) A = % x B

(c) % = A/Base

Turn to page 222

Turn to page 233

Turn to page 234



Page 218

Your answer is incorrect.

What are you solving for? Per cent, right'

Okay then, what equivalent form will the problem be

in?

(a) per cent = 16/40 Turn to page 202

(b) per cent -74 40 x 16 Turn to page 214

(c) per cent = 40/16 Turn to page 200



Page 219

Yon!' ancvmr is enrrect!

Try this one.

75% of 360 is:

(a) 27

(b) 480

(c) 270

Turn to page 224

Turn to page 229

Turn to page 228



Page 220
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What are you solving for? The "Amount" or "A,"

right? Okay then, the formula we are using is

Amount = % x Base.

Wow what is 20% of 15?

(a) 1 1/3

(b) 3

Turn to page 225

Turn to page 216



Page 221

Whoops! You made a careless mistake.

Return to page 216 and correct your error.



Page 222

Incorrect.

A money problem where we want to find interest

earned belongs to the formula i = prt, where interest

equals the principal times the rate times the time.

Applying this to our formula of A = % x Base, we

find that the interest is the sane as the

in our formula.

(a) Amount

(b) Base

Turn to page 230

Turn to page 231



Page 223

Wait a minute!

We should be using an equivalent form of A = % x B

to solve for A.

Writing our problem (what is 13% of 3?) in that form,

we get:

(a) A = 13%/3 Turn to page 220

(b) A 2 3/13% Turn to page 226

(c) A = 3 x 13% Turn to page 216



Page 224

Your answer is incorrect.

Here is how the problem, 75% of 360 is , is worked.

Step 1: A = 76% x 360 (correct equivalent form which

in this case is A = % x B)

Step 2: A = .75 x 360 (change the percentage to

decimal form)

Step 3: A = $7.35 (multiply)

Try this problem.

20% of 15 is:

(a) 75

(b) 13 1/3

(c) 3

Turn to page 220

Turn to page 227

Turn to page 216



Page 225

You saem to be having trouble solving percentage

problems of this type. Return to page 157 and study

the material the,e. Then continue by working the

problem on page 158.

Turn to page 157.



Page 226

Incorrect.

What are you solvino 4 r? The "Amount" or "A,"

right? Okky, then, the formula we ab.e using is

Amount = % x Base.

Wow what is 20% of 15?

(a) 1 1/3

(b) 3

Turn to page 225

Turn to page 216

,;,



Page 227

InorrPet.

What are you solving for? The "Amount" or "A,"

right? Okay, then, the formula we are using is

Amount = % x Base.

Now what is 20% of 15?

(a) 1 1/3

(b) 3

Turn to page 225

Turn to pagc 216



Page 228

Very gmull

Here is a thought problem for you to figure out.

Wow don't become confused. It is worked just like

the others you have worked. Ready?

Okay, here goes.

If Shari Brawn put $135.00 in a savings account at

5 1/4% interest per year, what amount would she earn

in interest in one year's time?

(a) $7.35

(b) $25.71

(c) $2.57

Turn to page 235

Turn to page 230

Turn to page 217



Page 229

Your answer is incorrect.

Here is how the problem, 75% of 360 is , is worked.

Step 1: A = 75% x 360 (correct equivalent form,

which in this case is A = % x B)

Step 2: A = .75 x 360 (change the percentage to

decimal form)

Step 3: A = $7.35 (multiply)

Try this problem.

20% of 15 is:

(a) 75

(b) 13 1/3

(c) 3

Turn to page 220

Turn to page 227

Turn to page 216



Page 230

Your answer is incorrect.

Which equivalent form of A = % x B are you using

to solve this problem?

(a) B = A/%

(b) A = % x B

(c) % = A/Base

Turn to page 222

Turn to page 233

Turn to page 234



Page 231

Sorry, wrong answer.

Per cent times a base gives us tax or interest. Thus,

we use the formula A = % x B.

Now look at this problem.

John bought a motorcycle for $432.00. He paid a

state sales tax of 5%. How much money did he pay

on sales tax?

Now to solve this problem, we should have the equation:

(a) Tax = $432/5% Turn to page 225

(b) Tax = 5% x $432.00 Turn to page 236

(c) Tax = 5%4432.00 Turn to page 220



Page 232

Sorry, wrong answer.

Per cent times a base gives us tax or interest.

Thus, we use the formula A = % x B.

Row look at this problem.

John bought a motorcycle for $432.00. He paid a

state sales tax of 5%. How much money did he pay

on sales tax?

How to solve this problem, we should have the equation:

(a) Tax = $432/5% Turn to page 225

(b) Tax = 5% x $432.00 Turn to page 236

(c) Tax 5%/$432.00 Turn to page 220



Page 233

That's correct!

Now let's apply one of the equivalent forum to

obtain a solution to this problem.

John bought a motorcycle for $432.00. The state

sales tax on the motorcycle was 5%. How much did

John pay for sales tax?

(a) $86.40

(b) $21.60

(c) $8.64

Turn to page 231

Turn to page 235

Turn to page 232



Page 234

Sorry, wTong formula.

Try again. Return to page 230.



Page 235

Excellent work! You have successfully completed this

Unit. Let's look at what you have learned.

1. You have learned how to change fractioms and

decimals to per cent form.

2. You have learned how to change percentage to

decimal or fractional form.

3. You have learned how to solve percentage problems

of the form "Amount = per cent x Base" for any

one part given the other two.

Now you are ready for a test on this Unit. Tell your

teacher that you have finished.



Page 236

Okay. Let's try the problem again.

John bought a motorcycle for $432.00. The state

sales tax is 5%. How much did John pay in sales tax?

(a) $2.16

(b) $86.40

(c) $21.60

Turn to page 237

Turn to page 232

Turn to page k35



Pape 237

Whoopsi

Make a tiny error in your work. Go back to page 236

and try again.

I

I



NORTHWEST REGIONAL EDUCATIONAL LABORATORY
400 Lindsay Building 710 S. W. Second Avenue

Portland, Oregon. 97204

CAT MATHKKATICS

TEST QUESTIONS

UNIT 15 - PERCENTAGE

Directions: The correct answers will always be expressed in lowest terms.

1. 2/5 = 7.

a) 2

b) 20

c) 40

2. Write .5X as a fraction

a) 5/100

b) 5

c) 1/20

30 Write,.(Was a percent

a) .03%

b) 3/10%

c) 3%

4. What decimal is equal to 35%

a) .35

b) 3.5

c) 7/20

5, -5 is 257 of

a) 9

b) 144

c) /2



a

Unit 15 (continued)

6. 300/100 =

a) 3

b) 30(3

c) ,03

7. 150% is the fraction

a) 3/2

b) 15

c) 4/5

8. What percent is equal to 7.4?

a) 7.4 %

b) 74%

c) 740%

9. What decimal is equal to 137% ?

a) 1.37

b) .0137

c) 137.

10. 10:: of is 3

a) 30

b) 33 1/3

c) .3

11. The fraction 3. 2/3 is equal to which of the following percents.

a) 1 2/3%

b) .01 2/3%

c) .0133%

12 2 1/2% written as a fraction is

a) 1/40

b) 2 1/2

c) 1/4

Page z



Unit 15 (continued)

13. .1625 = %

a) 11.5,8

b) 162S

c) 16 1/4

14. 11/2% is equal to which of the following?

a) .5

0 .005

c) .02

15. 50% of 56 is

a) 112

b) 28

c) 5.6

16. What percent is equal to 7/1.00 ?

17.

18. The decimal .01 is equal to which of the following?

a) .07%

b) 700%

c) 7%

1 2/9* and the fraction are equal
. .

a) 11/900

b) 11/9

c) 90/11

a) 1/10

b) 1%

c) 100%

f,
a

1

i

;



Unite 15 (continued)
Elge 4

19. The best decimal answer for 7 2/9% is

a) .J722

b) 7.2222

c) .008

20. 2 1/4% of 100 is

a) 225

b) 4/9

c) 2.25

21. 21/35 = %

a) 17

b) 21

c) 60

22. 33% is the fraction

a) 33/10U

b) 1/3

c) 3 3/10

23. .05375 =

a) .53 3/4%

b) 5 3/8%

c) 5 3/4Z

24. 13 1/2% written as a decimal is

a) 13.5

b) 4135

c) 1.35

25. What percent of 24 is 4?

a) 600%

b) 9.6%

c) 16 2/3%



ANSWER SHEET

UNIT 15 - PERCENTAGE

15.

16.

17.

b

c

a

4. a 18. b

5. b
19. a

6. b 20. c

7. a 21. c

8. c
22. a

9. a 23. b

10. a
24. b

11. b 25. c

12. a

13. c

14. b

To the instructor: The above problems are related.to the following obectives:

OBJECTIVE 1 : Questions 1,6,11,16,21

OBJECTIVE 2 : Questions 2,742,17,22

OBJECTIVE 3 : Questions 3,8,13,18,23

OBJECTIVE 4 : Questions 4,9,14,19,24

OBJECTIVE 5 : Questions 5,10,15,20,25


